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QUESTION 1

Which of the following best describes when it might be advantageous to split a dynamic-row table into dynamic-row and
fixed-row tables? 

A. When the table contains both fixed and variable length columns, but the majority of queries on it access the fixed
length columns. 

B. When the table contains both fixed and variable length columns, but the majority of queries on it access the variable
length columns. 

C. When the table contains both fixed and variable length columns, and the majority of queries access both the variable
and fixed length columns. 

Correct Answer: A 

 

QUESTION 2

Consider the following: 

mysql> EXPLAIN SELECT Name FROM City WHERE CountryCode = (SELECT Code FROM Country 

WHERE Name = \\'United States\\')\G 

*************************** 1. row *************************** 

id: 1 

select_type: PRIMARY 

table: City type: ALL 

possible_keys: NULL 

key: NULL 

key_len: NULL 

ref: NULL 

rows: 4079 

Extra: Using where 

Which of the following best describes the meaning of the value of the select_type column? 

A. The query has a subquery. 

B. It is the first SELECT in a subquery. 

C. The outer select is the SELECT referred to in the output row. 

D. The inner select is the SELECT referred to in the output row. 
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Correct Answer: C 

 

QUESTION 3

Which of the following best describe the purpose of the long_query_time variable? 

A. It is used to tell the server when to log a query as slow. 

B. It is used to see the time it took the last longest query to run. 

C. It is used to tell the server after how many seconds to abort a query. 

D. It is used to tell the server the total CPU seconds that are allotted to a client connection before it shut down. 

Correct Answer: A 

 

QUESTION 4

Which of the following best describe what could cause low utilization of query cache? 

A. The query cache size is too small. 

B. The CACHE_QUERY keyword is not being used. 

C. The Qcache_priority variable is set too small. 

D. The server might be trying to cache queries when it really isn\\'t worth it. 

Correct Answer: B 

 

QUESTION 5

Which of the following statements about the slow query log is true? 

A. The slow query log will always contain just slow queries. 

B. The slow query log may not always contain just slow queries. 

C. The slow query log always logs more than just slow queries. 

Correct Answer: B 
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